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Answer the question relating to the scenario below, writing a complete sentence to
explain each step taken. Credit is awarded for correctness of mathematics (10 points),
correctness and completeness of explanations (15 points) and neatness and grammar (5
points). You may use calculators, notes, books, but not the paper of another person on
this assessment. (Good Luck!!)

Scenario: The population, N, of a colony of bacteria is modeled by the equation N =
100*e™, where t is the time in days and k is an unknown number.

Question 1: What is the original population of the colony, i.e., after 0 days?
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Question 2: The population doubles to twice the size of the original population after 5
days. What is the value of k for this model?
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Question 3: When will the population of colony be 4 times the original population?
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